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                   The stomach contains enzymes that aid in digestion and that are active within a small pH range. 
Describe what would happen to the enzyme’s FUNCTION in the pH was outside this range.
_____________________________________________________________________________________________
_____________________________________________________________________________________________
_____________________________________________________________________________________________

Describe what would happen to the enzyme’s STRUCTURE if the pH was outside this range.
_____________________________________________________________________________________________
_____________________________________________________________________________________________
_____________________________________________________________________________________________
28

      	        Explain 2 evidences for evolution. Give examples of how that evidence supports the theory of evolution.

_____________________________________________________________________________________________
_____________________________________________________________________________________________
_____________________________________________________________________________________________
	    Below is a sequence of bases that make up a segment of DNA.29

[bookmark: _GoBack]			A  A  C  T  A  C  A  G  T  C T  A  C  C  A T  A C
When this segment of DNA is translated into mRNA, how many codons would be represented in this segment?
_____________________________________________

How are codons used in the process of protein synthesis?
_____________________________________________________________________________________________
_____________________________________________________________________________________________
_____________________________________________________________________________________________
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Performance Indi

r: Predict how changes in a biogeochemical cycle can affect an ecosystem.
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‘Which of these could cause the amount of carbon dioxide in the atmosphere to
decrease?

F increased buming of fosil fuels

G increased numbers of decomposers

. increased numbers of producers

3 increased respisaton in enimals
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‘Which would most likely increase the carrying capacity for a deer population
forest ccosystem?

F adecrease in parsites
G a decrease in predators
H adecrease i producers
3 a decrease in competitors

Performance Indicator: Predict how various types of human aciviies afect the environmen.

(85) Scentts s st he o cran et s g ecin v
‘population of honeybees, which pollinate many fruit and vegetable plants. How
‘would a decline in the honeybee population most impact the environment?

A Pomcs ot et o il v decn
B Populations of primary consumers would increase.
P —

Performance Indicator: Make Inferences about how a specic enironmentalchange can affect the amount of
biodiversty,
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Performance Indicator: Distinguish between aerobic and anaerobic respiration.

Clostrdium botulinum bacteria grow wellin low-oxygen environments, including
improperly canned foods. Which of these processes does Closridium borulinum
use (0 produce energy when in these low-0xygen environments?

F acrobic respiration
G anacrobic respiraion
H photosynthesis
1 chemosynibesis

Performance Indicat
Tansformation.

Compare and contrast photosynthesis and celllar resiration interms o eneray

Photosynthesis converts light energy to stored chemical energy. What form of
chemical energy is used in cellular respiration?

A glucose
B o
C chlorophyl
D cabon
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Performance Indicator: dentify the

ructure and functon of DNA.
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Performance Indicator: Apply pedigree data to interpret various modes of genetic inheritance.
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Based on the pedigree, what s the genotype of the male in the P, generation?

A xeye
B XV
c© xev
D xv
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Performance Indicator: Associate the process of DNA replication with its biological significance.

(@) e i purpose of DNA replication s to
P copure suigh
R —
H sy protins.
3 copy gencic formation

Performance Indicator: Recognize the interactions between DNA and RNA during protein synthesis.

@ i ssunc i e coret e o o sy

A DNA— mRNA— amino acids —» potens
B DNA—> aminoacids — mRNA — protcins
€ DNA— mRNA—protens — amino acids
D DNA— protens —> amio aids — mRNA

Performance Indicator: Determine the probabiity of a particular aitn an offpring based on the genetype
of the parents and the pariclar mode of Inheriance.
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Performance Indicator: Describe how meiosis s involved in the production of egg and sperm cells.

88) Which sstement best explains the ole of meosi nthe production of sex clls?
F o roduc el with bl e DNA of e il el
G o produce cls e gentclly iemical o cach ther
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3 10 combine e DNA o o et cls
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Performance Indicator: Describe how meiosis and sexual reproduction contribute to genetic variation in a
populaton.

‘Which best explains how meioss is 2 contributing factor (o genetic variation
ithin a species?

A Meiosis reduces the namber of mutations within an organism

B Meiosis produces daughter cellsthat will contain identical chromosomes

€ Meiosis esults i offspring that contain alleles from only one pasent gamee.
D

Meiosis allows for crossing over of chromosomes, resuling in new gene.
combinations.

Performance Indicator: Determine the relationship between mutations and human genetic disorcer.

Down syndrome (Trisomy 21) and Klinefelter’s syndrome (XXY) are both a result
of an extra chromosome due to which type of mutation?

F o deletion
G frameshift
H imerion
3 nondisjunciion
Performance Indicaor: Evaluate the scieifc and ethical ssues assocated with gene techmologies: genetc

enginaering, cloning, transgenic organim production, stem col researcn, and DA fingerprinting.

‘Whatis the main ethical argument against the use of transgenic organisms, which
have DNA from anather organism?

A Transgenic organisms may cause unknown seactions is an ecosysiem

B Transgenic organisms may eliminate certain harmful discases.

€ Transgenic organisms may increase food production in many crops

D Transgenic organiseus may prevent harmful mutations
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Performance Indicator: Apply evidence from the fossil record, comparative ar

and DNA sructure that support modern casificazion sstems.

stomy, amino acid sequences,

@ i s  pectic DY s o i ecin. T b

elow shows the base sequence for each species.
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According to the resulls sbove, which two species are most closcly related?
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Species 1and 3
Specics 2and 4
Species 2and 3
Species 1 and 4
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Performance Indicator: Recognize the relationships among environmental change, genetic variation, natural
selection, and <he emergerce of a new species.
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‘Which of these does not provide an explanation for how different wading birds
arose from a single ancestor?

F Random genetic changes oceured in e ancesial popultion
G Gradual geneiic divergence occurred between isolated populatons
H Environmental factors sccted for genctic change n the population

Dominsat it incressed survival in the popolation more than secessive rsits did.
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Performance Indicator: Infer relatedness among different organisms using modern dlassification systems.
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Performance Indicator: Distnguish between prokaryotic and eukaryatic cels.
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Performance Indicator: Distnguish ameng protein, carbohyerate, lpids, anl nuclec acids.

L
v
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‘When Benedict’s solution is added to an unknown substance and then heated i
 hot water bath, the solution turns an orange-brown color. This indicates the
presence of which molecule?

A lipids
B protins

€ carbobydrates
D suckic acids
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Performance Indicator: Identify how enzymes control chemical reactions in the body.

‘How does the reduction in activation energy by an enzyme affect a chemical
reaction?

F The products are o stable.

G The reaction proceeds at a fastr rate.

M Less cnergy is gained from the resction

J The reaction i less efcient when the enzymme s present
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Performance Indicator: Predict the movement of water and other molecules across selectively permeable
memoranes

‘What will most likely occur when  cell s placed into a saline salution that has a
higher sali concentration than inside the cell?

F Water molccules will move int the ccll

G Salt molecules will move out of the cel

. Salt molecules will move unil the sal concentation s the same inside and
ouside of the el

3 Water molecules will move unil the sat concenration is the same inside and
outside of the el
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Performance indicator: Compare and contrast active and passive transport.
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performance Indicator: Predict now population changes of orgarisms at different trophic evels affect an
ecosystem.
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Performance Indicator: Interpret the relationshp between environmental actors and fuctuations n
population size
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performance Indic

Interpret a diagram that lustrates energy flow in an ecosystem
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As energy moves through the pyramid, the amount of available energy
A increases asthe size of the organisms increases.

B doubles as it moves up each trophic levl.

€ semains the same a it i ransferzed o the next trophic lvel,

D decreases because it s eleased as heatintothe environmen.




